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Lloyd’s of London

Insurance

Link to case study
Overview: a case study based on the insurance market

Learning objectives:

· to understand the different forms of insurance companies might take out

· to understand the role of insurance brokers.

Introduction (3 minutes)

Introduce the lesson: you will discuss the role of Lloyds of London in relation to insurance. You will consider the importance of insurance to companies and examine the nature of insurance markets.

Lloyds of London is the world’s oldest and best known insurance market. It originated in the 17th century. It started in a coffee shop owned by Edward Lloyd where ship owners, captains and merchants shared information. (For more on the history of Lloyds read section 3). Lloyds is now a market for insurance where you can insure against risks in return for a premium. Products and services it insures include oil rigs, banks, satellites, sporting events and airlines.

What is insurance? ( 15 minutes)

Here is a list of terms:

· insurance cover

· premium

· risk

· claim

Can you match these terms with the descriptions provided?

i.
the possibility of an unforeseen event or accident happening

ii.
a sum paid into an insurance pool to gain cover

iii.
seeking compensation for an accident or loss from an insurance company

iv.
security providing compensation against accidents that have been insured.

Student task: working in groups answer the following questions: what is insurance? What types of insurance might businesses need? Why? They then feedback their findings to the class. Compare their ideas with the definition in section 1 and the types of insurance outlined in section 2. Go over this with them then students to make notes.

How might an airline benefit from taking out business interruption insurance?


Underwriting (10 minutes)

Student task: students to read section 3 paragraph 1 

What is underwriting and what type of underwriting did Lloyd’s of London originally engage in?

What factors are likely to affect the size of the premium paid for insurance?

Lloyds structure (10 minutes)
Student task: students to read section 5 

What are the two main groups that operate at Lloyd’s. What role does each of these groups play?

Insurance markets (14 minutes)

Student task: Using section 7 explain how insurance differs in a consumer market compared to more complex forms of insurance e.g. in the capital markets. Explain the role of the broker in this. (basically because it is more complex and needs to be underwritten by several firms there is a role for a broker).

Why is it often necessary for Lloyd’s underwriters to work in syndicates?

Why might a broker need to deal with a number of Lloyd’s syndicates?

Review  (1 minute )

Insurance is an essential part of business. Firms must consider risks and take appropriate action. Some insurance is voluntary but some is necessary by law.  Brokers and underwriters play a critical role in the insurance market.

Homework

1.
Complete the worksheet on this activity

2.
Define the following:

· brokers

· insurance premium

· public/product liability insurance

· underwriters.

Lloyd’s of London

Insurance

Questions and Answers

Here is a list of terms:

· insurance cover

· premium

· risk

· claim

Can you match these terms with the descriptions provided?

i.
the possibility of an unforeseen event or accident happening

ii.
a sum paid into an insurance pool to gain cover

iii.
seeking compensation for an accident or loss from an insurance company

iv.
security providing compensation against accidents that have been insured.

i.
risk

ii.
premium

iii.
claim

iv.
cover.

How might an airline benefit from taking out business interruption insurance?

Airlines fly to tight schedules. Every day passenger’s book flights and expect to travel on a particular day. Sometimes, due to unforeseen circumstances, flights may have to be cancelled, e.g. because of the weather, or because of terrorist alerts. In such circumstances the airline will probably have to pay compensation to its customers. It is therefore important to insure against this risk through Business Interruption Insurance.

What is underwriting and what type of underwriting did Lloyd’s of London originally engage in? 

Underwriting involves writing your name under a policy to show that you are prepared to cover a risk (i.e. pay a share of claims should they arise). In the early days Lloyd’s was associated with underwriting international trade in the form of insurance for ships and their cargoes.

What factors are likely to affect the size of the premium paid for insurance?

The size of the premium will depend on the level of risk. The higher the risk the higher the premium. The premium will also be dependent on the amount of cover required. The greater the loss might be – the greater the premium that will need to be paid.

What are the two main groups that operate at Lloyd’s. What role does each of these groups play?

The two main groups at Lloyd’s are i. Brokers, and ii. Underwriters. Brokers work on behalf of clients to secure insurance on their behalf. The underwriters then provide cover. Lloyd’s underwriters are formed into syndicates to share the cover of a risk.

Why is it often necessary for Lloyd’s underwriters to work in syndicates?

Lloyd’s underwriters typically work in syndicates to share the risk of providing cover. Some of the risks covered involve very large sums of money – e.g. for satellites in space, and oil rigs. Should compensation need to be paid for a claim then this will be shared among a syndicate.

Why might a broker need to deal with a number of Lloyd’s syndicates?

The risks involved may be so large that individual syndicates do not have the resources, or are not prepared to take the risk alone. The broker then will need to get several syndicates to cover the risk.
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